





You wil be able to write Bounc’\rﬁ Ball
o




or Bouncing PokERAW I

S




But First...



Let's 9o on Bug HuvT

Yeah, I'm just
writing the code now.
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This program is BuaaY!

public void run() {
int number = readInt("Enter positive int, © for exit: ");
while (number !'= 0) {
int max = 0;
if (number > max) {
max = number;

}

int number = readInt("Enter positive int, 0 for exit: ");
}
println("The maximum is: " + max);



Here's a BUGE

public voj () 1 .
int number]= readInt("Enter positive 1in

while (number !'= 0) {
int max = 0;
if (number > max) {
max = number;

}
rint number]z readInt("Enter positive 1
}
println("The maximum is: " + max);




Does it work now?

public void run() {
int number F readInt("Enter positive int, 0 for exit: ");
while (number != 0) {
int max = 0;
if (number > max) {
max = number;

k;
L nhumber | readInt("Enter positive int, 0 for exit: ");
¥
println("The maximum is: " + max);



Noooo! Another Bug!

public void run() {
int number = readInt("Enter positive int, © for exit: ");

Whi'].LLMM@) {
int max = 0;

if (number > max) {
max = number;

}

number = readInt("Enter positive -
3
println("The maximum is: "|+ max);




Does it work now?

public void run() {
int number = readInt("Enter positive int, 0 for exit: ");
while (number != 0) {
int max = 0;
if (number > max) {
max = number,

}
number = readInt("Enter positive int, O for exit: ");
println("The maximum is: " + max);



Noooo! Two more BuagsS4

public void run() { _
int number = readInt("Enter pog
while (number != 0) {

int max = 0;
—iT (number > max) {

max = number; /‘
number = readInt("Enter positive int ; ‘ )

Tor exit: ");

)



The correct \oroaram!

public void run() {
int number = readInt("Enter positive int, 0 for exit: ");
int max = 0;
while (number != 0) {
if (number > max) {
max = number;

}

number = readInt("Enter positive int, 0 for exit: ");
h
println("The maximum is: " + max);




This program is BUgaY!

int numValue = readInt("Enter a number: ");
println("countdown™);
while (numValue != 0) {

println(numValue);

numValue = numvValue - 1;

¥
println("START!");



Here's a BUGE

int numValue = readInt("Enter a number: ");

println("countdown");

while( (numvalue !'= 0)]{
printIn(numvValue);
numValue = numValue - 1;

}
println("START!");




The correct program

int numValue = readInt("Enter a number: ");
println("countdown);
while (numValue > 0) {

println(numvValue);

numValue = numValue - 1;

}
praintln(“STARLL" ) ;



Animation



How animation works
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Animation loop

private void run() {
// setup

while (true) ({
// update world

// pause
pause (DELAY) ;



Animation loop

private void run() ({

[ // setup ] <+ Make al the variables

You need. Add 3raph\cs
to the screen.

while (true) {
// update world

// pause
pause (DELAY) ;



Animation loop

private void run() ({

// setup
/while (true) { \ < The animation loop s
// update world <5repeﬂﬂoncﬂ7
heartbeats,
// pause
pause (DELAY) ;

A

/ \ninite loop



\nCinite loop

while (true) {

}




Animation loop

private void run() ({
// setup

while (true) {
[// update world ]

<+——— Each heartbeat, update
the world forward one
frame,

// pause
pause (DELAY) ;



Animation loop

private void run() ({
// setup

while (true) ({
// update world

// pause
[pause (DELAY) ; ] — tjou do not pause,

} humans wont be able
} to see it




Programming time!




How animation works



Programming time!




Ce.n’re.r'\nﬂ in the Scene

GOval ball = new GOval(DIAMETER, DIAMETER);
ball.setFilled(true);

add(ball, getwidth() / 2, getHeight() / 2);



Ce.n’re.r'\rﬁ in the Scene

GOval ball = new GOval(DIAMETER, DIAMETER);
ball.setFilled(true);

add(ball, getwidth() / 2, getHeight() / 2);

File Edit




Ce.n’re.r'\rﬁ in the Scene

GOval ball = new GOval(DIAMETER, DIAMETER);
ball.setFilled(true);

add(ball, (getwidth() - DIAMETER) / 2, (getHeight() - DIAMETER) / 2);

File Edit




Programming time!




Programming tirme!




Cirav'\hj Bal

First heartbeat

2

Velocity: how much the ball position
changes each heartbeat



Cirav'\hj Bal

First heartbeat
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vy 4

The GOval move method takes in
a change in x and a change iny



Cirav'\hj Bal

Second heartbeat

) —

vyl

| —



C-‘arav\hj Bal

What hap e hit a wall?
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Cirav'\hj Bal

We have this velocity

R
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Cirav'\hj Bal

Seventh Heartbeat




Programming tirme!




THATS \T.

SEE You LATER.



